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Code No. : 10798 B Sub. Code : EMEC 11

B.A. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023.

First Semester
Economics — Core
MICRO ECONOMICS —1I
{For those who joined in July 2023 onwards)

Maximum : 75 marks
PART A — (10 x'1 = 10 marks)

Answer ALL questions.
Choose the correct answer.
1. ‘meamaiud Qurmeilud’ e Qerdame & bluie
() L Lb evibls (2f) TS Hirde
(@) e Sl4iflevg ()  MasmiGLm
Who coined the term ‘Micro Economics'?
(a) Adam Smith (b) Ragnar Nurkse

(¢) Ragnar Frisch (d) Ricardo.
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pareflued  Qummetlweiiey

Qurgleuns ThEs
Carur® Gerssliul (Hererg) ?

(=) elewevs Camump)
(<) eummeumius Gsmium
(@) Ceuees Camium(
() euissss Camlump

Which theory is generally included under micro

economics?

(a) price théory

(b) income theory

(c) employment theory

(d) trade theorj \

wafls edpULSms Blevmey Qeiuyb @ Qummefar
<2bDed Gleieumy ADPESILHE D).

() dEud
(@) GQ@DLILb (rr) 2T

(=) Lwerum()

The capacity of a good to satisfy a human want is
called

(a) utility (b)  satisfaction

(©)  want ) desire
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4.

Gophg O @md  How LwaLrl@ el
——— &®U dummbgb.

() &EHETSHET

() (SL&EMTIs6r
(@) Cuyrengésmyer
(

T)  Engmyenr Wweallgiser

3

The law of diminishing marginal utility is
applicable to

(a) misers (b) drunkards

(c) greedy men (d) normal consumers

Caeneuufed quLl@Lb wrppsSlenr  Serellenen
sam&lenmg).

(=) Gzeveu adldl

(<) Goereu Qpdlpss

(@) msrCuT erésb

(FF)  Bisfey ey

tell us the rate of change in demand.

(@) law of demand
(b) elasticity of demand
()  consumer’s surplus

(d) consumption analysis
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Cseneu lfHuler el ellewvs@s Cam(
&5 QEwaiib

(=) @uillpps euenns & Crrsdls sfdeamg

(=) @Lilppel euewrs GCuaCrprédls Qendpg)
@) Osuess GpiGan®

()  dleorwl L CrrGasm@

An exceptional demand curve slopes

(a) downward from left to right

(b) upward from left to right

(c) vertical straight line

(d) horizontal straight line

wrpélenn eflflsrseiar 694, rmumb
sryenflenwé Q& megrL_ o HuGHE gmmdener
efleuf&dmg.

(=) @0 () G

(&) eperm (FF)  [Bmebns

The law of variable proportions describes the

production function with variable
factor.

(a) one ()  two

(¢) three (d) four

Page 4 Code No. ;10798 B

10.

SHITLUI-L_&aTe 2 pugdle sy  @@mAummL sefen
eTettTenil&en .

(21) 2 (=) 3

(@) 4 () 1

The number of inputs in Cobb-Dougles production
function is

(a) 2 (b) 3
(o 4 d 1

grrefls Ceewey =

(=) TCxQ (<) TC + Q
(@) TC+Q (M) TC-Q
Average cost is equal to

() TCxQ ) TC -+ Q
) TC+Q (d TC-Q

Qmd Hleew eumeumi &@ &LWs
Qmsdarn CGurg Qurés eumeumis o&s yaredle

BsEb.

(1)  Lguid

(<) pen

(@) @nd Hleas Qsway
() elemey
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11.

12.

Total revenue is maximum, when marginal
revenue is equal to

(a) zero (b) one

(c) marginal cost (d) price

PART B — (5 X 5 = 25 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

(=) SigliueL Gummaiwd déshsamer samayLb.

Narrate the fundamental economic problems.

Or
(<) Gpdlyey sign@upeann LUHH sHRss e

Give a brief account of normative approach.

(1) vwerur(®  erammed  ereman?  cuilaneIL(HESE
&oLlg U Lwesrm(p LOMID 6T 6T & dn lg W
vweunr®). Geumu@®sg)s.

What is utility? Differentiate between

ordinal and cardinal utility.

Or

FGHTES euameatCar g seneninaaer edleul.

Describe the properties of indifference curve.
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13.

14.

15.

(<)

(1)

gluan qpremrun® upBl g GOUY er(psis.
Write a brief note on Giffen Paradox.

Or

evavs  Gganeu

Qp&lipsHlGer  euanssmer
eleTs @ s.

Explain the types of price elasticity of
demand. :

Guraray 2 Hhugullen wiaé Hssamiser LHH
efleumd).

Discuss the internal economics of large scale
production.

Or

s Ijare] 2 Hugdl (Isoquant) erenp &(mEHene
TS,

Examine the concept of Isoquant.
gyreflé Ceway euamerGar® wHmbd EmdHamas

Gewey euamaCsr®  @eupdlpdlenCuiwimen
Qarimndenear efeuf.

Describe the relationship between AC and
MC curves.

Or

Qerusens o FenrE@h Od uphl Ay GHuy
UM,

Write a short note on profit maximization
rule. ’
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PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Bach answer should not exceed 600 words.

16. (=)

17, (=)

CQurmpeflue  weler LEssTLeY HmILD
QSMGSETC| a@mIEPPDW 2 Tmiis.

Examine the deductive and inductive
approaches of economic analysis.

Or

QumrpamsmsdnEh wHm sups SiPleduss
2 d@rar CgrLmlenar QsafloyuBsss.

Elucidate the relationship between
economics and other social sciences.

g @nffleoon sweurl®  efdamw
UGSSTLS.

Analyse the law of equi-marginal utility.
Or

@mélhlene LSO alldlzg S anar
2_gTeang gL e afleré(gs. '

Explain the concept of marginal rate of
substitution with example.
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18.

19.

20.

(SH)

(1)

(=1)

GCaameu ellflenws eflend s,
Explain the law of Demand.
Or

pa&iGeunt erésd erarp Camum oL eleufss
Sgen (WPE&AWUSFIUSMS &lligéd s [Hs.

Describe the doctrine of consumer’s surplus
and point out its significance.

U@ elilenereyser uplu eldsemer eNMeuns
SIS,

Examine the laws of returns to scale in
detail.

Or

sri-L&eared 2 pusdlé ermiener  ollirger
fSlwurs uglumis.

Critically analyse the  Cobb-Dougles
production function.

CoumuDsas :

1) Heoewrar opb wrpdean dewa)

() Eoddu sre wpmb S sraé tewe

(iii) o crammips whHmd  QesafliueLwimer
Caeey

(iv) qopdw Geeey whpbd ewigul Aewa
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Distinguish between :

(1)  Fixed and variable costs

(1)  Short run and long run costs
(i) Implicit and explicit costs

(iv) Sunk and imputed costs.

Or
Gomgs eumeums, syref eugmeumi wHmb @ midl
Blene eumeumi ypflweubenn ey Clauig)

gpnefl  aumeurws Car® wpmb  @midHae
VGIEUEAEES 0 Sl weunHdhélen_Guiwimer
Gsriimlenar Qsalleyu@ssis.

Define the term total revenue, average
revenue and marginal revenue. And
elucidate the relationship between AR and
MR curves.
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